Math 308 Quiz 2
June 4, 2015

Name: A N 8 W E V2 q;

Instructions: Answer all problems in the space provided.
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True or false (Tor F): If {1} € P(A),then1 € Abut{1} ¢ 4. __ [

Justify your answer above: ,A!: { ‘; El’}?) ’ /fLm—\ {1}6?(/%) 5"“’"9{ {}E éA

Let/ = [0,) and let € I, define: 4, = {(x,y) € R? | x> + y? =r?}, B, = {(x,y) € R? | x* + y% < r?},
and C,. = {(x,y) € R? | x? + y? > r?}, then:

(a) Urer A = ']R‘L = ) Nrer 47 = g

(b) Uper By = HZ’L Nrer By = { (o/ 07.}
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(€) Ures G = TR o TCQ/O)} Nrer G = §2§

Forn € N, let4, = (—%,2 —3). What is:
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Unen An = (’ | Vi l> NnenAn = COJ |)

Bonus problems:
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Draw a truth table for P = @Q:
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For the statement P = @, what is:

(a) Its converse? Q\—‘:> {,?
(b) Itsinverse? P = "~ Q
(c) Its negation? P A (ﬁ" @-3
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